
Universal 6 Bolt Steering Wheel Mount  For Switch-Pros® SP9100, RCR-Force®12 

6 Bolt Base Plate Middle Plate Anodized Top Plate 
Plastic P-Clamp 12” Coiled Cable Qty:6 M5 Flat Allen Screws 

Qty:2 M4 Black Allen Screws Qty:1 M4 Allen Screw Qty:4 6-32 Phillips Screws 
0.90” Long Heat Shrink 

Installation: 
1. Remove the 6 bolts from the steering wheel.

2. Using a 3.0mm Allen Wrench, attach the 6 Bolt Base Plate with the provided M5 Allen screws (qty:6)
to the steering wheel. If using an MPI hub, use their provided 10-32 screws.

3. Insert the Switch Panel into the Anodized Top Plate. Screw the Middle Plate to the back of the Switch
Panel using the provided 6-32 Phillips screws (qty:4).

4. Slide the provided Heat Shrink over the connector and heat shrink as seen below.

Required Tools 
Phillips Screwdriver 2.5mm Allen Wrench 3.0mm Allen Wrench Heat Gun 

Kit Includes 

SP6BSW-9100 & SP6BSW-RCR 



5. Attach the provided P-Clamp to the Coiled Cable, about 1” from the connector. Using a 2.5mm Allen 
Wrench and the provided M4 Allen screw (qty:1), screw the P-Clamp to the back of the Middle Plate as 
seen below. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
6. Feed the Switch Panel cable into the channel on the 6 Bolt Base Plate. Using a 2.5mm Allen Wrench 
and the provided M4 Black Allen screw (qty:2), screw the Top and Middle Plate to the 6 Bolt Base Plate. 
Run the Coiled Cable connector behind the steering wheel and connect it to the Switch Panel. Adjust the 
P-Clamp as needed.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
7. Connect to the Coiled Cable to the system’s Communications Cable. Zip-tie the cables under the dash 
so there is no strain on the connectors.  




